y=2x-3 Y4, -7Tx+2y+2 5 x° T

@ -3x+4 @ 3x+4

@—3)6—4 ® -3x-3

—Tx+2y+2=-7Tx+2(2x-3)+2
=—-Tx+4x-6+2
=-3x-4
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o7t EOBR x+x+y=16 =

=
2x +y = 16 °|t}.
[e]




3. 203* & Atsted o S 7P "Rt A S0

@ (a+b)(a-b)=a®-b?
@(a+b)2=a2+2ab+b2

® m(a+ b) = ma+ mb

@ (ax+b)(cx +d) = acx® + (ad + be)x + bd

® (a+b)(c+d)=ac+bc+ad+bd

2032 = (200 + 3)% ©]E& q = 200, b = 3 ©]2}1l 5}
(a+b)* = a® + 2ab + b* & ©]-&5Hd Hrt.




D 2012 = (a-b)?

@ 499° = (a+b)?

® 9972 = (a+b)(a—b)

@ 103x97 = (ax+b)(cx+d)
@104x105 = (x+a)(x+b)

B

@ 2012 = (200 + 1)2 = (a + b)?

@ 4992 = (500 — 1)2 = (a — b)?

® 9972 = (1000 — 3)2 = (a — b)?

@ 103 x 97 = (100 + 3)(100 — 3) = (a + b)(a — b)




32x—y) =5+2xLd W, 2x -3y + 1 & x 2] 4|02 YJeRJH?

@ -2x-6 (@)—2x—|—6 ® -2x-5

@ 2x+4 ® 2x-4

B

32x-y) =5+2xE y= H5IH
6x—3y=>5+2x
3y=4x-5

4x -5 _
y= =28 Fol2l 4] st

2x-3y+1=2x—(4x-5)+1
=2x—4x+5+1=-2x+6




(a+b)(a—b) = a® - b & o|gsko] Axte}r] 714 g

D)18 x 22 @ 51x52 3 992

@ 302 x 403 ® 1032

B

@ 18 x22 = (20— 2)(20 + 2)

@ 51x52 = (50 +1)(50 + 2)

® 992 = (100 - 1)?

@ 302 x 403 = (3 x 100 + 2)(4 x 100 + 3)
® 1032 = (100 + 3)?




2% 34 34 (

AAbstz]of 7 Heagh A2

O 872 @)51 x 52
@ 37x43 ® 512

® 13x7

51 x 52 = (50 + 1)(50 + 2)
=502+ (1+2) x50 +1x2




8. a=-5.b=9% 1 th& 49| gkg Tofel,

(_a_b“‘)ib_:”x (1)2
3 " 242 a2b




9. x+y=4, xy=-2<Y 0, x2 +y? 9] F2?

® 5 @ 10 ® 15 @20 ® 25

2 +y?=(x+y)?-2xy
=42 -2x(-2)
=16+4=20




10.

x4+y=5 x4y =13 4w, xy o] gk2?

® -6 @ -12 ® 4 @6

B

® 12

(x+3)% =2 + 2xy +y°
25 = 13 + 2xy

2xy = 12

Soxy==6




